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inequalities of the system. The solution is their -]
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EX1. Solve the system of inequalities by graphing:
Ix+y<s4

x=2y> =4
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EX2. Solve the system of inequalities by graphing:
y>2x2 =2
y>x+1

y72_xz—2_ \/7x+l

GUIDED NOTES: Solve Systems of Inequalities

To solve a system of inequalities, we need to find the ordered pairs that satisfy all of the
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EX3. Solve the system of inequalities by graphing:
y < —3|§x—1|+2
y+42(x=3y

3| &x-| (x-3)
Y4 3]5X l+2 Y-@}X S_q

>

Y 2 (x-3)*-4 _

EX4. Solve the system of inequalities by graphing:
_y >X
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